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|Student: Instructor: Alfredo Alvarez Assignment:
\Date: _ Course: Math 1314 Sullivan Coreq  test1m131456spring2020

1. Solve the equation.

3 +x%-20x-4=0

The solution set is { }

(Simplify your answer. Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

5x

S SSNNNAN

Answer: 1
- g, -22

ID: PF.4.39

Find the distance d (P1, Pz) between the given points Ay
10+
P4 and P,. :

Pi=(22) I
Py, =(-3,6) \

y =

-

d (P1 y Pz) =i
(Simplify your answer. Type an exact answer, using radicals as needed.)

Answer: */ﬂ

ID: F.1.21

3. Find the midpoint of the line segment joining the points P, and P,.
P1=(2, -3);P,=(8,3)

The midpoint of the line segment joining the points P, and P, is
(Simplify your answer. Type an ordered pair.)

Answer: (5,0)

ID: F.1.39
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For the equation X2 + y2 -8x-4y-16=0, do the
following.

(a) Find the center (h,k) and radius r of the circle.
(b) Graph the circle.
(c) Find the intercepts, if any.

(a) The center is
(Type an ordered pair.)

The radius isr=

(b) Use the graphing tool to graph the circle.

(c) Find the intercepts, if any. Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

A. The intercept(s) is/are !
(Type an ordered pair. Use a comma to
separate answers as needed. Type
exact answers for each coordinate, using
radicals as needed.)

B. There is no intercept.

Answers (4,2)
6

10

https://xlitemprod.pearsoncmg.com/api/v1/print/math

10-

hY

G

A

10

A. The intercept(s) is/are (4-442,0),(4+442,0),(0,2-245),(0,2+245) .

(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each

coordinate, using radicals as needed.)
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ID: F.4.27

5. Find the domain of the function.

f(x)= 1/6x -36

The domain is . (Type your answer in interval notation.)

Answer: [6,00)

ID: 1.1.59

3 0f 28 3/12/2020, 7:15 PM



testlm131456spring2020-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v 1/print/math

4 of 28

6. Forthe given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x) =56x+ 3; g(x)=8x-9
(a) Find (f + g)(x).
(f+g)(x)= (Simplify your answer.)

What is the domain of f + g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

(O A. The domain is {x| L
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

{.) B. The domain is {x| x is any real number}.
(b) Find (f— g)(x).
(f-g)x)= (Simplify your answer.)

What is the domain of f— g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

(YA Thedomainis{x| }.
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

(.} B. The domain is {x| x is any real number}.
(c) Find (f » g)(x).
(feg)(x)= (Simplify your answer.)

What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

() A. The domain is {x| b
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

.} B. The domain is {x| x is any real number}.

f
(d) Find [EJ (x).

f
(5] (x)= (Simplify your answer.)

f
What is the domain of E? Select the correct choice below and, if necessary, fill in the answer box to complete your

choice.

.7 A The domain is {x| 3.
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

T HR WA ARRRRR R W] TR AR SRR STRWAA

3/12/2020, 7:15 PM



testlm131456spring2020-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

(e) Find (f + g)(3).

(f+g)3)= (Type an integer or a simplified fraction.)
(f) Find (f- g)(2).

(f-9)2)= (Type an integer or a simplified fraction.)

() Find (f+g)(4).
(f-0)4)= (Type an integer or a simplified fraction.)

f
h) Find | —{(1).
(h) [g]( )
f
{a] (1)= (Type an integer or a simplified fraction.)

Answers 13x -6
B. The domain is {x[ X is any real number}.
-3x+12
B. The domain is {x| x is any real number}.
40x2 - 21x - 27
B. The domain is {x| X is any real number}.

5x+3
8x-9

9
A. The domain is {x| x#tg

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)
33

6

529

ID: 1.1.67
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7. f(x +h) - f(x)

Find the difference quotient of f; that is, find h , h#0, for the following function. Be sure to simplify.

f(x) =x° - 8x+5

f(x + h) — f(x) N
——

Answer: 2x+h-8

ID: 1.1.83
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8. Using the given graph of the function f, find the following.

(a) the intercepts, if any
(b) its domain and range
(c) the intervals on which it is increasing, decreasing, or constant

(d) whether it is even, odd, or neither i g, ol
"_Y_!'_ _r-‘___.‘"_"r +

(a) What are the intercepts?

(Simpilify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

(b) The domain is
(Type your answer in interval notation.)

The range is .
(Type your answer in interval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within
your choice.

A. The graph is increasing on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph is decreasing on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph is constant on ;
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(d) The functionis (1)

(1 even.
odd.
neither odd nor even.
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Answers (- 1,0),(1,0),(0,1)
[-33]
[0,1]

A. The graph is increasingon [-1,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasingon [-3,-1],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25
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9. Forthe graph of a function y = f(x) shown to the right, find the absolute Ay
maximum and the absolute minimum, if they exist. Identify any local maxima 07 (4.7

or local minima. /\
(

1(03) \
4
\/ &
X

-3 (2.1}, >
3 6

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A. The absolute maximum of y = f(x) isf( - ) =
(Type integers or simplified fractions.)

B. There is no absolute maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A. The absolute minimum of y=f(x) is f( ) =
(Type integers or simplified fractions.)

B. There is no absolute minimum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A. The local maximum ofy=1f(x) is f( V ) =
(Type integers or simplified fractions.)

B. The local maxima of y = f(x) are f( )= and

( )-

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A. The local minimum of y =f(x) is f(
(Type integers or simplified fractions.)

B.  The local minima of y = f(x) are f( )= and

f ) =

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local minimum for y = f(x).

9 0f 28 3/12/2020, 7:15 PM
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Answers A. The absolute maximum of y = f(x) is f( 4 ) = 7
(Type integers or simplified fractions.)
A. The absolute minimum of y =f(x) is f( 2 ) = 1

(Type integers or simplified fractions.)

A. The local maximum of y = f(x) is f( 4
(Type integers or simplified fractions.)

A. The local minimum of y =f(x) is f( 2 ] = 1
(Type integers or simplified fractions.)

ID: 1.3.51

10 of 28 3/12/2020, 7:15 PM



testlm131456spring2020-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

10. The function f is defined as follows.

3+x ifx<0
f(x) =
X ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The domain of the function f is
(Type your answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

) A. The intercept(s) is/are ;
(Type an ordered pair. Use a comma to separate answers as needed.)

(O B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

O A O B. OcC. O D.

(d) The range of the function f is
(Type your answer in interval notation.)

Answers (- co,00)

A. The intercept(s) is/are (- 3,0),(0,0) .
(Type an ordered pair. Use a comma to separate answers as needed.)

ID: 1.4.37
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11. The graph of a function f is illustrated to the right. Use the graph of f as the first Ay
step toward graphing each of the following functions. &1
(8) F(x)=f(x)+3 (b) G(x) =f(x + 4) (c) P(x)= - f(x)
OHN=+2-2  @aW=510  aW=(-x)
(@ (9 =129 o

(a) Choose the correct graph of F(x) = f(x) + 3 below.

(c) Choose the correct graph of P(x) = — f(x) below.
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1
(e) Choose the correct graph of Q(x) = Ef(x) below.
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Answers

ID: 1.5.63

14 of 28 3/12/2020, 7:15 PM



testlm131456spring2020-Alfredo Alvarez

12,

(a) Graph f(x) = |x + 5| - 2 using transformations.

(b) Find the area of the region bounded by f and the
x-axis that lies below the x-axis.

(a) Graph f(x).

(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis

that lies below the x-axis is

units.
(Simplify your answer.)

Answers

hy

square

https:/xlitemprod.pearsoncmg.com/api/v1/print/math

-10-

ID: 1.5.81
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13. Solve the following equation using the quadratic formula.

14.

2x° -3x-2=0

The solution set is { }

(Type an exact answer, using radicals and i as needed. Use integers or fractions for any numbers in the expression.
Use a comma to separate answers as needed.)

Answer:

1
-

ID: Quick Check P2.2.2

Find the zeros, if any, of the quadratic function using the quadratic formula. What are the x-intercepts, if any, of the
graph of the function?

f(x) = 8x> + 3 + 12

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

O The zeros and the x-intercepts are different. The zeros are , the x-intercepts
A,
are

() B. The zeros and the x-intercepts are the same. They are

(> €. There is no real zero solution and no x-intercept.

-3+43 -3-43

Answer: B. The zeros and the x-intercepts are the same. They are 4 2

ID: 2.3.47
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15.
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For the quadratic function f(x) = x2 —4x - 12, answer parts
(a) through (c).

2
16

(a) Graph the quadratic function by determining whether its 2]
graph opens up or down and by finding its vertex, axis of ]
symmetry, y-intercept, and x-intercepts, if any. 8-

Does the graph of f open up or down? 44

{J up 20 A6 2 8 4 4 4 8 12 16 20

down
What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any A6
numbers in the expression.)

-20-

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

{3 B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The y-intercept is
(Type an integer or a decimal.)

() B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it

ie AanraacinAa
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Answers up
(2,-16)
x=2

A. The x-intercept(s) is/are 6,-2
(Type an integer or a decimal. Use a comma to separate answers as needed.)

A. The y-intercept is -12 .(Type an integer or a decimal.)
Ay
2(!«_r
16+
124
8
-'}‘-:
; X
rry L5 S L T
20 8 12 18 20

(- 00,00)
[-16,00)
[2,00)

(-0,2]

ID: 2.4.37
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16. Determine, without graphing, whether the given quadratic function has a maximum value or a minimum value and
then find the value.

f(x)= - 2x° + 8x - 3

Does the quadratic function f have a minimum value or a maximum value?

() The function f has a maximum value.

{3 The function f has a minimum value.

What is this minimum or maximum value?

(Simplify your answer.)

Answers The function f has a maximum value.

5

ID: 2.4.59

17. Construct a polynomial function that might have the given graph.

Choose the correct answer below.

O A.
) B.
O C.
O D.

f(x) = X2 (x + 2)(x + 4)
f(x) = X2 (x = 2)(x - 4)
f(x) =x(x—2)(x—4)
f(x) =x(x +2)(x + 4)

Answer: D. f(x) = x(x + 2)(x + 4)

ID:3.1.73
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18. Solve the equation in the complex number system.
2 .
X —12x+45=0

The solution set is { b. (Use a comma to separate answers as needed.)

Answer:6-3i 6+31i

ID:3.3.2

19. Find the complex zeros of the following polynomial function. Write f in factored form.
f(x) = X5 = 15%% + 79x - 145

The complex zeros of f are :
(Simplify your answer. Type an exact answer, using radicals and i as needed. Use integers or fractions for any
numbers in the expression. Use a comma to separate answers as needed.)

Use the complex zeros to factor f.

f(x) =
(Type your answer in factored form. Type an exact answer, using radicals and i as needed. Use integers or fractions
for any numbers in the expression.)
Answers 55-2i{ 5+21
(Xx—-5)(x-5+2i)(x-5-21i)

ID: 3.3.33
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20. Find the vertical, horizontal, and oblique asymptotes, if any, for the following rational function.

17x
x+18

R(x) =
Select the correct choice below and fill in any answer boxes within your choice.

() A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as needed.)

(O B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

() A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

(O B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = -18
(Use a comma to separate answers as needed.)

A. The horizontal asymptote(s) is/are y = 17
(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

ID: 3.4.45
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21.

23 of 28

For f(x) = 5x + 5 and g(x) = 5x, find the following composite functions and state the domain of each.

(a) fog (b) gof (c) fof (d) geg

(@) (fog)x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

) A. The domain of fogis {x | }.
(Type an inequality. Use mtegers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(& B. The domain of f o g is all real numbers.
(b) (@ofiix) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

'A. Thedomainofgofis{x| }.
(Type an inequality. Use mtegers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{2 B. The domain of g o fis all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(2} A. The domain of fo f is {x| >,
(Type an inequality. Use mtegers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of f o f is all real numbers.
(d) (gog)x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

() A. Thedomainofgogis {x| Be
(Type an inequality. Use mtegers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{2 B. The domain of g o g is all real numbers.

3/12/2020, 7:15 PM



testlm131456spring2020-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v 1/print/math

Answers 25x+5
B. The domain of f o g is all real numbers.
25x+25
B. The domain of g o f is all real numbers.
25x+30
B. The domain of f o f is all real numbers.
25x

B. The domain of g o g is all real numbers.

ID:4.1.23

24 of 28 3/12/2020, 7:15 PM



testlm131456spring2020-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v 1 /print/math

22,

250f28 3/12/2020, 7:15 PM



testlm131456spring2020-Alfredo Alvarez

@f "(x)=

choice.

https://xlitemprod.pearsoncmg.com/api/v 1/print/math

The function f(x) = 20x - 4 is one-to-one. Ay
(a) Find the inverse of f and check the answer. 20-
(b) Find the domain and the range of fand f ' 62
(c) Graph f, f~ 1 . and y = x on the same coordinate axes. w:
84
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) : x
. _ . 20 46 2 8 4 1 4 8 12 16 20
(b) Find the domain of f. Select the correct choice below 4
and, if necessary, fill in the answer box to complete your i
3-
124
The domain is {x|x2 ) ;
-16-
The domain is {x|x= 3 1
207
The domain is {x|x# }.
The domain is the set of all real

o 0 ® »

numbers.

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

O 0w »

The range is {y|y¢ }
The range is {ylyz }
The range is {y]ys B }

The range is the set of all real numbers.

Find the domain of f L . Select the correct choice below
and, if necessary, fill in the answer box to complete your

choice.

oD 0 w® »

Thedomainis {x|x# }.
The domainis {x|x<s  }.
The domain is {x|x= )
The domain is the set of all real

numbers.

Find the range of f ! Select the correct choice below and,
if necessary, fill in the answer box to complete your choice.

26 of 28

o o w »

B

The range is {y|y2 }

The range is {y|y #

The range is {y[ys }

The range is the set of all real numbers.

-1
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x+4
20

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.
D. The domain is the set of all real numbers.

D. The range is the set of all real numbers.

hy
20- {
16+

12-

ID: 4.2.53

23. The function

D(h)=9¢ ~ 5%

can be used to find the number of milligrams D of a certain drug that is in a patient's bloodstream h hours after the
drug has been administered. How many milligrams will be present after 1 hour? After 6 hours?

After 1 hour, there will be milligrams. (Round to two decimal places as needed.)

After 6 hours, there will be milligrams. (Round to two decimal places as needed.)

Answers 4.99
0.26

ID: 4.3.111
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24. Find the domain of the function.
fx)= In(x-8)

The domain of f is .
(Type your answer in interval notation.)

Answer: (8,00)

ID: 4.4.39

25. Find the real solutions of the equation.

2+ 1/ 7x-6 =x
Select the correct choice below and, if necessary, fill in the answer box to complete your answer.
O A. The solution set is { }

(Simplify your answer. Use a comma to separate answers as needed.)
QO B. The solution is the empty set.

Answer: A. The solution set is -{ 10 }.

(Simplify your answer. Use a comma to separate answers as needed.)

ID: A.8.55
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